SUGHAR SINGH ACADEMY (SWARN JAYANTI VIHAR)
SUMMER VACATION HOLIDAY HOMEWORK (2024-25)
CLASS-XI (Science)

English Do the project on the topic - Discovering Tut - The Saga Continues.

Hindi 1- IS STl raehrer o fohagl 5 Tt T 3eTera 3r9ei S # faf@w|
2- IR F (FSieFe BISel) AR HY|
HII AT G IRTI, TAR & ATEIH (3R, 3T, TN faer, se3aie)

Physics Do the given sheet.

Chemistry Do the given sheet.

Biology Prepare a project file on the allotted topics.

Maths Do the given sheet.

Computer 1- Draw a flowchart and write an algorithm to accept a number and display its table.

2- Draw a flowchart and write the algorithm to display sum of the following series:
S=11+21+3!+...+10!

3- Draw a flowchart and write an algorithm to accept three numbers and display the largest of them.
4- Draw a flowchart and write an algorithm to find the sum of the first 20 natural numbers.

5- Write an algorithm that accepts four numbers as input and find the largest and smallest of them.
Also Write draw the flowchart.

6- Draw a flowchart to find the average of three numbers.

7- Draw a flowchart to calculate the area of a triangle when its three sides are given.

8- Draw a flowchart to find the reverse of a number input by the user. Also Write the algorithm.
9- Draw a flowchart to find the sum of digits of a number. Also Write the algorithm.

10- Draw a flowchart to print the first 8 multiples of 3. Also Write the algorithm.

Physical 1. Play outdoor activity as per interest at least 2 hours.
Education 2. Perform yogasan every morning and send images.
3. Learn all topics of physical education.

4. Prepare a labeled chart of any game.




SUGHAR SINGH ACADEMY
Holiday Homework-Mathematics
Class-XI

1. Write the following sets in the roster form-

(a
(b) B = {x:xisareal number,6 < x <15}

= {x : x is a natural number ,6 < x <15}

d

() E={x:x€Zand —} <x< ¥}

) A
)
(c) C = {x:xisaperfect square and x < 50}
) D= {x:x€ Rand x® — 6x2 +11x — 6 = 0}
)
)

(f) F={x:x€R |x| <3}

2. Write the following sets in set-builder form-

@) A= [—1 1)

3. Write down all subsets of each of the following sets-

A.P={-1,01} B.Q=©® C. R={2{3}} D.S={01,{23}}
4. If A C B,B C A, then prove that A = B.
5. If A= (2,4) and B = [3,5), then find AN B.

6. fA={l:xeNandx <8}and B= {4 : x € Nand x < 4}, then find
A. AUB B.AnB C.A-B D.B-A

7.1 A={ab,cde},B={a,ceg}and C={be, f, g}, then find-
A. AN(B—C) B. A—(BUC) C. A—(BNC)
8 IfA={x:xeN,x<7},B={x:xisaprime,x <8} and C = {x:x € N,xisodd and x < 10},then
verify that-
(@ AU(BNC)=(AUB)N(AUC)
(b) AN(BUC)=(ANB)U(ANC)

9. For any sets A and B, using venn-diagram, prove that-
(@) (A~B)NB=0

(b) AU(B—A)=AUB

© (A-B)U(ANB) =4

(d ANB'=@0=ACB

(e AUB=U=ACB

) AcCB=B CcA



10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

If X = (—00,5) and Y = (4, ), then find-
A.XNY B XUy C.X-Y D Y-X
Let A={x:xeW,x<3},B={x:x€N,1 <x<4}andC = {x:x2—8x+ 15 = 0}, then verify
that-

(@ Ax(BUC)=(AxB)U(AxC(C)

(b) Ax(BNC)=(AxB)N(AxC)
LetR={(x,y):x+3y=12,x € Nandy € N}.
(a) Write R in roster form.

(b) Find dom(R) and range(R).

LetR = {(x,y) : x,y € Zand x*> + y* < 4}.

(a) Write R in roster form.

(b) Find dom(R) and range(R).

If f(x) = ;—j, then show that f(1) = —f(x).

Find the domain and range of the following functions-

(@) f(x) =33

(b) f(x) =54

(© flx) =55

d) f(x)=v2—x
(e) f(x) =V4—x2
(f) f(x) = Va2 -4
@® f(x) =25

(h) f(x) = ==

(i) f(x)=secx

) f(x) = /5=
®) f(x) =%

=2

The minute hand of a watch is 1.4 cm long. How far does its tip move in 45 minutes? (Use 77 = %)

Find the value of the following-

A. sin(3L7) B. cos(17%) C. tan(—&F) D. cot(137) E. sec(—&F) F. cosec(—47%)

G. cot(585°) H. cos(—2220°) 1. sin(—1470°) J. cosec (—1500°)
Do all the exercises of first 3 chapters of NCERT..
Prove that  cos 130° cos40° + sin 130° sin40° = 0

2

Prove that  cosx + cos(& + x) 4+ cos(3 —x) =0

Do Activity 1 to Activity 7 from Arihant Lab Manual.
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Sughar Singh Academy (Swarn Jayanti Vihar)
Class-XI (Physics)
Holiday Homework 2024-25

. A thin wire has a length of 21.7 cm and radius 0.46 mm Calculate the volume of the wire to
correct significant figures.

. The frequency ( f ) of a stretched stnng depends upon the tension F (dimensions of force),
lengih 1 of the string and the mass per umt length A of string Derive the formmla for
frequency.

. The energy E of an oscillating body m simple harmomic motion depends on 1is mass m
frequency 0 and amplitude a. Using the method of dimensional analysss find the relation
betweenE. m nand a.

. Aball 15 thrown vpwards from the top of a tower 40 m high with a velocity of 10 m/s. Find
the time when it strikes the sround. Take g= 10 m/s*

. Aball 15 thrown uwpwards from the ground with an mitial speed of u. The ball 15 at a height of
80 m at two times, the time interval being 6 5. Find u. Take g = 10 m's*

. A particle 13 projected vertically wpwards with velocity 40 m's. Find the displacement and
distance travelled by the particle in (a) 2 s (b) 4 5 (c) 6 5. Take g = 10m/s”

I A particle starts with an nitial velocity 2.5 m/s along the posttive x-direction and it

accelerates uniformly at the rate 050 m/s”

(a) Find the distance travelled by it in the first two seconds

(b) How nmch time does 1t take to reach the velocity 7.5 m/s?

(c) How nmch distance will it cover in reaching the veloetty 7.5 m/s?

. Displacement-time equation of a particle moving along x-axis is x = 20+t - 12t (SI units)
() Find, position and velocity of particle at fime t = 0.

(b) State whether the motion 15 vmformly accelerated or not.

(c) Find position of particle when velocity of particle 15 zero.

. The motion of a particle along a straight line 15 described by the function x = (2t - 3) 2, where
X 15 in metres and t 15 in seconds. Fnd

(a) The posttion. velocity and acceleration att=2 5.

(b) The velocity of the particle at origin

10. A ball 15 projected vertically upward with a speed of 30 m/s. Find (a) the maxinmm height,

(b) the time to reach the maximum height, (c) the speed at half the maxinmm height Take z=
10 ms™,



Sughar Singh Academy (Swarn Jayanti Vihar)
Class-XI (Chemistry)
Holiday Homework 2024-25

1. How many significant figures are present in

(a) 4.01 * 10

(b) 8.256

(c) 100

2. Vitanmn C 15 essential for the prevention of scurvy. Combustion of 0.2000g of vitanun C gives
02098z of CO; and 0.819g of H;O. What is the empirical foromla of vitamin C?

3. What designations are given to the crbitals having
Ha=21=1(w)n=21=0(u)n=4,1=3

(V)n=4,1=2(v)n=4,1=17

4. Write the electronic confipuration of (1) Mn*, (if) Fe'™ (i) Cr™ and Zn™ Mention the number of
unpatred electrons in each case.

5. What 1s the mass (m) of an electron?

6. Which experiment led to the discovery of electrons and how?

7. Grve the main properties of canal ray experiment. »

8. Find ont atomic mumber, mass mumber, mumber of electron and neutron in an elemen 207 ?

9. Give the main features of Thomson's Model for an atom

10. What did Rutherford conchude from the cbservations of © - scattering experiment?
11. Project Study of the methods of punification of water

12. Peniodic table working model



